BC-12

June — Examination 2023

B.Com. (Part II) Examination

Elements of Financial Management
Paper : BC-12

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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What is break even point ?

Tafo=e fomg o aar & ?

What do you mean by wealth maximisation ?
TP Sfeshad ¥ ST 1 e § 7

What are financial forecast ?

foxita qafgam 1 ¥ 2

What is Ratio ?

ST F T ?

What is meant by Liquidity ?

qCAd T N HAS 7 ?
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(vi) What is Discount Policy ?
wgT Hifq o ¥ ?
(vi1) Define receivables management.
Tl % Fa 1 IR i |
Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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2. What is the difference between profit and wealth ?
Y TE e | o SR § 2
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. Discuss the merits of stable dividend policy.

gfeer anwier Hifq & o7 SRy

. Discuss the functions of cash management.

YHs Yo & H1EAl i I HIfeT |

. Explain different techniques used for inventory

control.

= fagso &t fafie qediel &1 =are swifs |

. What is Gordon’s formula ? Discuss its effects on

the market prices of shares of a firm.

ST T WA F1 § ? TR ThH HH & AL &b oAl
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. Calculate the maximum bank financing according

to Tondon Committee from the given

information :
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Current assets 5,00,000 cor - Tl S U & S SIfST | 1Y 19 SR I Sfehan
(exluding core current assets) 500 TRl § IR HINT | T T 14 37 H 7
Core current assests 2,00,000 10. Critically examine the various methods of

luation of capital budgeting ?
Current liabilities 1,50,000 cvaluation of capital budgeting

St aeie & ok &t fafe faftrt &t erereres
AT HITT |

8. What is time value of money in capital budgeting ?

ISt soted § g & 9HT god 1 A AfuE ¥ 2
11. What are the objectives of inventory control ?
9. What do you mean by credit standards ?

g wEfed ¥ A9 = g9Ad § 7

Discuss the factors determining the investment level

in inventory.

Section-C 2x14=28 Y fem & 1 SRd A 6 2 Wy d fafrEe
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Note .— Answer any two questions. You have to delimit 12. Discuss the objectives, importance and limitations
your each answer maximum up to 500 words. of financial management.
Each question carries 14 marks. forftar yaiy & 3e9dl, e U HHisit 1 99 Hifg |
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13. The following information is given in respect of

XYZ Ltd.

XYZ fafies & aR # /= g=an ey ©

EPS % 10
Rate of return 20%
Required rate of return of equity

investment (Ke) 16%

Find out the market price of the share under
Gordon model if the company follows a pay out

ratio of 50% or 25%.

A HEA 50% AT 25% M I AN FHIE ©
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